TRANSFORMATION OF THE GENERALIZED WIENER MEASURE UNDER A CLASS OF LINEAR TRANSFORMATIONS

J. YEH AND W. N. HUDSON

(Received Nov. 9, 1971)

1. Introduction. Let C_w be the Wiener space consisting of continuous real valued functions x(t) on [0, 1] with x(0) = 0. It is the purpose of this paper to investigate the transformation of the generalized Wiener measure on C_w corresponding to the generalized Brownian motion process (i.e. Brownian motion process with nonstationary increments) when the elements of C_w are transformed by a Volterra integral equation of the second kind.

For $0 = t_0 < t_1 < \cdots < t_n \leq 1$, let $\mathfrak{F}_{t_1 \cdots t_n}$ be the σ -field of subsets of C_w of the type

(1.1)
$$E = \{x \in C_w; [x(t_1), \cdots, x(t_n)] \in B\}, \qquad B \in \mathfrak{B}^n$$

where \mathfrak{B}^n is the σ -field of Borel sets in the *n*-dimensional Euclidean space \mathbb{R}^n . Let b(t) be a strictly increasing continuous function on [0, 1]. It is well known that if we define a set function m on $\mathfrak{F}_{t_1,\dots,t_n}$ by

(1.2)
$$m(E) = \frac{1}{\left\{ (2\pi)^n \prod_{i=1}^n [b(t_i) - b(t_{i-1})]^2 \right\}^{1/2}} \int_{-\infty}^{\infty} (n) \int_{-\infty}^{\infty} \exp\left\{ -\frac{1}{2} \sum_{i=1}^n \frac{(\xi_i - \xi_{i-1})^2}{b(t_i) - b(t_{i-1})} \right\} d\xi_1 \cdots d\xi_n$$

with $\xi_0 \equiv 0$, then *m* is well defined on the σ -field \mathfrak{F} generated by the field \mathfrak{F}_0 which is the union of all the σ -fields $\mathfrak{F}_{t_1\cdots t_m}$ and is in fact a probability measure on (C_w, \mathfrak{F}) . (See for instance K. Itô [4] and P. Lévy [6].) Let \mathfrak{F}^* be the Carathéodory extension of \mathfrak{F}_0 relative to *m*. Then (C_w, \mathfrak{F}^*, m) is a complete probability measure space. We shall refer to \mathfrak{F}^* -measurability as Wiener measurability, and to *m* as the generalized Wiener measure corresponding to *b*.

The real valued function X(t, x) = x(t), $x \in C_w$, $t \in [0, 1]$ is then a stochastic process with independent increments on the probability space (C_w, \mathfrak{F}^*, m) . In fact X(0, x) = 0 for every $x \in C_w$, and the increment X(t'', x) - X(t', x)is distributed according to N(0, b(t'') - b(t')), i.e. the probability distribution Φ of the above increment is a normal distribution with density function

(1.3)
$$\Phi'(\eta) = \frac{1}{\{2\pi [b(t'') - b(t')]\}^{1/2}} \exp\left\{-\frac{1}{2} \frac{\eta^2}{b(t'') - b(t')}\right\}, \qquad \eta \in R.$$

Furthermore the space of sample functions $X(\cdot, x)$, $x \in C_w$, coincides with the sample space C_w .

Throughout this paper the topology of C_w will be the metric topology defined by the uniform norm $|||x||| = \sup_{[0,1]} |x(t)|, x \in C_w$. In this topology C_w is a separable Banach space, an open subset of C_w is always \mathfrak{F} -measurable and so is every continuous real valued functional $F[x], x \in C_w$.

Our main results are the following theorems:

THEOREM 1. Consider the probability space (C_w, \mathfrak{F}^*, m) where b(t) has a positive and continuous derivative b'(t) on [0, 1]. Let $F[y], y \in C_w$, be a bounded and continuous real valued functional on C_w which vanishes outside of a bounded subset of C_w . Let K(t) be a continuous real valued function on [0, 1] and define a transformation T of C_w into C_w by

(1.4)
$$(Tx)(t) = x(t) + \int_{0}^{t} b'(s)K(s)x(s)ds$$
, for $x \in C_{w}$.

Then

(1.5)
$$\int_{C_w} F[y]m(dy) = \int_{C_w} F[Tx]J[x]m(dx)$$

with the "Jacobian" J[x] given by

(1.6)
$$J[x] = \exp\left\{-\int_{0}^{1} K(t)X(t, x)dX(t, x)\right\}\exp\left\{-\frac{1}{2}\int_{0}^{1} b'(t)K^{2}(t)x^{2}(t)dt\right\}$$

where the integral in the first exponential factor is the stochastic integral of the process K(t)X(t, x) with respect to the process X(t, x) = x(t).

THEOREM 2. For the linear operator T defined by (1.4) which maps C_w one-to-one onto C_w and is continuous with a continuous inverse T^{-1} we have $T^{-1}\Gamma$, $T\Gamma \in \mathfrak{F}^*$ for every $\Gamma \in \mathfrak{F}^*$ and

(1.7)
$$m(\Gamma) = \int_{T^{-1}\Gamma} J[x]m(dx) .$$

Moreover if F[y], $y \in C_w$, is a Wiener measurable real valued functional then

(1.8)
$$\int_{\Gamma} F[y]m(dy) = \int_{T^{-1}\Gamma} F[Tx]J[x]m(dx)$$

in the sense that the existence of one side implies that of the other and

the equality of the two. Similarly

(1.7')
$$m(T\Gamma) = \int_{\Gamma} J[x]m(dx)$$

(1.8')
$$\int_{TT} F[y]m(dy) = \int F[Tx]J[x]m(dx) .$$

We remark that according to the Volterra integral equation theory (see for instance pp. 145-149, K. Yosida [7])

$$||T|| \leq 1 + |||b'|||$$

and

$$||| T^{-1} || \leq \exp \{||| b'K |||\}$$
 .

The transformation of the standard Wiener measure (i.e. when b(t) = ton [0, 1]) under transformations of the elements of C_w by Fredholm integral equations of the second kind has been investigated by R. H. Cameron and W. T. Martin [1]. The results, specialized to transformations by Volterra integral equations of the second kind with kernels depending on one variable only, were applied to evaluate various Wiener integrals by means of Sturm-Liouville differential equations in [2]. Aside from the fact that the measure is the generalized Wiener measure in our case the proofs of our results are considerably different from those of the theorems in [1]. The proofs of Theorem 1 and Theorem 2 are given in §3. In §2 we prove some lemmas for Theorem 1.

2. Lemmas for Theorem 1. Suppose that b(t) has a positive and continuous derivative b'(t) on [0, 1]. For every positive integer n let $t_i = i/n, i = 0, 1, 2, \dots, n$ and let $\tau_i \in (t_{i-1}, t_i)$ be such that $b(t_i) - b(t_{i-1}) = b'(\tau_i)/n$ for $i = 1, 2, \dots, n$. With τ_i fixed, let $\beta_i = b'(\tau_i)$. Similarly for a real valued continuous function K(t) on [0, 1] let $K_i = K(t_i)$.

Consider the transformation T_n of C_w defined by

$$(2.1) \quad (T_n x)(t) = x(t) + \frac{1}{n} \sum_{j=1}^{[nt]} \beta_j K_{j-1} x(t_{j-1}) + \frac{1}{n} \beta_{[nt]+1} K_{[nt]} x(t_{[nt]}) (nt - [nt])$$

with the convention that $\beta_{n+1} = \beta_n$. For $t = t_i$ we have [nt] = i = nt so that

$$(2.2) \qquad \begin{cases} (T_n x)(t_i) - x(t_i) = \frac{1}{n} \sum_{j=0}^{i-1} \beta_{j+1} K_j x(t_j), \quad i = 1, 2, \dots, n \\ (T_n x)(t_0) - x(t_0) = 0. \end{cases}$$

Thus $(T_n x)(t) - x(t)$ is a polygonal function with *n* equal steps, $[t_{i-1}, t_i]$, $i = 1, 2, \dots, n$, whose values at t_i are given by (2.2). The function $(T_n x)(t)$

is a polygonal function with n equal steps if and only if x(t) is.

For later reference we remark at this point that since x(t), $t \in [0, 1]$, $x \in C_w$ is a stochastic process on the probabity space (C_w, \mathfrak{F}^*, m) with m given by (1, 2), we have for every real valued \mathfrak{B}^n -measurable function $f[\xi_1, \dots, \xi_n]$ on \mathbb{R}^n

(2.3)
$$\int_{\mathcal{C}_w} f\left[x\left(\frac{1}{n}\right), \cdots, x\left(\frac{n}{n}\right)\right] m(dx)$$
$$= \frac{1}{\left\{(2\pi)^n \prod_{i=1}^n \left[b(t_i) - b(t_{i-1})\right]\right\}^{1/2}} \int_{-\infty}^{\infty} (n) \int_{-\infty}^{\infty} f\left[\xi_1, \cdots, \xi_n\right]$$
$$\times \exp\left\{-\frac{n}{2} \sum_{i=1}^n \frac{(\xi_i - \xi_{i-1})^2}{\beta_i}\right\} d\eta_1 \cdots d\eta_n$$

in the sense that the existence of one side implies that of the other and the equality of the two.

LEMMA 1. Let $H[\eta_1, \dots, \eta_n]$ be a real valued, bounded and continuous function on \mathbb{R}^n and let $G[y], y \in C_w$, be defined by

(2.4)
$$G[y] = H\left[y\left(\frac{1}{n}\right), \cdots, y\left(\frac{n}{n}\right)\right]$$

then

(2.5)
$$\int_{\mathcal{G}_{w}} G[y]m(dy) = \int_{\mathcal{G}_{w}} G[T_{n}x] \exp\left\{-\sum_{i=1}^{n} K_{i-1}x(t_{i-1})[x(t_{i}) - x(t_{i-1})]\right\} \times \exp\left\{-\frac{1}{2n}\sum_{i=1}^{n}\beta_{i}K_{i-1}^{2}x^{2}(t_{i-1})\right\}m(dx) .$$

PROOF. According to (2.3),

(2.6)
$$\int_{\mathcal{C}_{w}} G[y]m(dy) = \left\{ \frac{n^{n}}{(2\pi)^{n} \prod_{i=1}^{n} \beta_{i}} \right\}^{1/2} \int_{-\infty}^{\infty} (n) \int_{-\infty}^{\infty} H[\eta_{1}, \cdots, \eta_{n}] \\ \times \exp\left\{ -\frac{n}{2} \sum_{i=1}^{n} \frac{(\eta_{i} - \eta_{i-1})^{2}}{\beta_{i}} \right\} d\eta_{1} \cdots d\eta_{n}$$

where the integrals exist from the boundedness of H. Consider the transformation S_n of $\xi = [\xi_1, \dots, \xi_n] \in \mathbb{R}^n$ into $\eta = [\eta_1, \dots, \eta_n] \in \mathbb{R}^n$ defined by

(2.7)
$$\eta = S_n \xi$$
; $\eta_i = \xi_i + \frac{1}{n} \sum_{j=1}^{i-1} \beta_{j+1} K_j \xi_j$, $i = 1, 2, \dots, n$.

The Jacobian of this transformation is equal to 1. Applying (2.7) to the right side of (2.6) we obtain

$$(2.8) \quad \int_{C_w} G[y]m(dy) = \left\{ \frac{n^n}{(2\pi)^n \prod_{i=1}^n \beta_i} \right\}^{1/2} \int_{-\infty}^{\infty} (n) \int_{-\infty}^{\infty} H\left[\xi_1, \dots, \xi_n + \frac{1}{n} \sum_{j=1}^{n-1} \beta_{j+1} K_j \xi_j\right] \\ \times \exp\left\{ -\sum_{i=1}^n K_{i-1} \xi_{i-1} (\xi_i - \xi_{i-1}) - \frac{1}{2n} \sum_{i=1}^n \beta_i K_{i-1}^2 \xi_{i-1}^2 - \frac{n}{2} \sum_{i=1}^n \frac{(\xi_i - \xi_{i-1})^2}{\beta_i} \right\} d\xi_1 \dots d\xi_n .$$

On the other hand in the right side of (2.5) we have by (2.4), (2.2)

$$G[T_n x] = H[(T_n x)(t_1), \cdots, (T_n x)(t_n)]$$

= $H\!\!\left[x(t_1), \cdots, x(t_n) + \frac{1}{n} \sum_{j=1}^{n-1} \beta_{j+1} K_j x(t_j)\right].$

If we apply (2.3) to the right side of (2.5) the result is precisely the right side of (2.8). This proves (2.5).

LEMMA 2. Let X be a random variable on a probability space $(\Omega, \mathfrak{B}, P)$ which is distributed normally with mean 0 and variance v. Let Y be a random variable on $(\Omega, \mathfrak{B}, P)$ which is measurable with respect to a σ -field $\mathfrak{A} \subset \mathfrak{B}$. If the σ -field $\sigma(X) \subset \mathfrak{B}$ generated by X and the σ -field \mathfrak{A} are independent then

(2.9)
$$E\left\{\exp\left\{XY-\frac{1}{2}vY^{2}\right\}\middle|\mathfrak{A}\right\}=1.$$

The proof will appear in [3].

LEMMA 3. Let X(t, x) be the stochastic process on the probability space (C_w, \mathfrak{F}^*, m) and the domain of definition D = [0, 1] defined by X(t, x) = x(t) for $x \in C_w$ and $t \in D$. Let g(t) be a real valued function on D and let $f_n(t, x)$ be an a stochastic process on (C_w, \mathfrak{F}^*, m) and D defined by

(2.10)
$$f_n(t, x) = g\left(\frac{[nt]}{n}\right) X\left(\frac{[nt]}{n}, x\right), \text{ for } x \in C_w \text{ and } t \in D.$$

Then the stochastic integral $I(f_n)(t, x)$ of the process $f_n(t, x)$ with respect to the Brownian motion process with nonstationary increments X(t, x) stisfies

(2.11)
$$E\left[\exp\left\{I(f_n)\left(\frac{i}{n}, x\right) - \frac{1}{2}\int_0^{i/n} f_n^2(t, x)db(t)\right\}\right] = 1,$$

for i = 1, 2, ..., n.

Proof. Since f_n is a stochastic step function

J. YEH AND W. N. HUDSON

$$I(f_n)\Big(rac{i}{n},\,x\Big)=\sum\limits_{j=1}^i f_n\Big(rac{j-1}{n}\Big)\Big\{X\Big(rac{j}{n},\,x\Big)-\,X\Big(rac{j-1}{n},\,x\Big)\Big\}\;.$$

Let

$$Y_j(x) = f_n\Big(rac{j-1}{n},\,x\Big)\Big\{X\Big(rac{j}{n},\,x\Big) - X\Big(rac{j-1}{n},\,x\Big)\Big\} - rac{1}{2}\,rac{eta_j}{n}f_n^2\Big(rac{j-1}{n},\,x\Big)\,.$$

Observe that

$$\sum_{j=1}^{i} rac{eta_{j}}{n} f_{n}^{2} \Big(rac{j-1}{n}, x\Big) \ = \sum_{j=1}^{i} f_{n}^{2} \Big(rac{j-1}{n}, x\Big) \Big\{ b(t_{j}) - b(t_{j-1}) \Big\} = \int_{0}^{i/n} f_{n}^{2}(t, x) db(t) \; .$$

Let

$$Z_i(x) = \exp\left\{\sum_{j=1}^i Y_j(x)
ight\} = \exp\left\{I(f_n)\left(rac{i}{n}
ight) - rac{1}{2}\int_0^{i/n} f_n^2(t, x)db(t)
ight\}.$$

In terms of Z_i , (2.11) becomes $E(Z_i) = 1$ for $i = 1, 2, \dots, n$.

Let $\mathfrak{A}_i = \sigma\{X(j/n, \cdot), j=0, 1, 2, \cdots, i\}$ for $i=0, 1, 2, \cdots, n$. Then $f_n(t, \cdot)$ is \mathfrak{A}_i -measurable for $t \in [0, (i+1)/n]$ so that in particular $f_n((i-1)/n, \cdot)$ is \mathfrak{A}_{i-1} -measurable for $i=1, 2, \cdots, n$. The random variable $X(i/n, \cdot) - X((i-1)/n, \cdot)$ is normally distributed with mean 0 and variance $b(t_i) - b(t_{i-1}) = \beta_i/n$. Also the σ -field $\sigma\{X(i/n, \cdot)\}$ and the σ -field \mathfrak{A}_{i-1} are independent. Thus by Lemma 2

(2.12)
$$E[\exp\{Y_i\}|\mathfrak{A}_{i-1}] = 1 \text{ for } i = 1, 2, \dots, n.$$

We proceed to show that $E(Z_i) = 1$ for $i = 1, 2, \dots, n$ by induction. First of all, $f_n(0, x) = 0$, $Y_1(x) = 0$, $Z_1(x) = 1$ for $x \in C_w$ so that $E(Z_i) = 1$. Now suppose $E(Z_i) = 1$. Then

$$E(Z_{i+1}) = E[Z_i \exp\{Y_{i+1}\}] = E[E[Z_i \exp\{Y_{i+1}\}|\mathfrak{A}_i]].$$

Since Y_1, \dots, Y_i are all \mathfrak{A}_i -measurable so is Z_i and consequently

$$E[Z_i \exp{\{Y_{i+1}\}}|\mathfrak{A}_i] = Z_i E[\exp{\{Y_{i+1}\}}|\mathfrak{A}_i] = Z_i$$
 .

Thus $E(Z_{i+1}) = E(Z_i) = 1$. This completes the proof for $E(Z_i) = 1$ by induction.

Let L_n be the linear transformation of C_w into C_w defined by

(2.13)
$$(L_n x)(t) = x(t_{i-1}) + \frac{x(t_i) - x(t_{i-1})}{t_i - t_{i-1}}(t - t_{i-1})$$
for $t \in [t_{i-1}, t_i], x \in C_w$, and $i = 1, 2, \dots, n$.

Clearly

(2.14)
$$|||L_n x||| = \max_{i=1,\dots,n} \left| x \left(\frac{i}{n} \right) \right| \leq |||x|||$$
 and

(2.15)
$$\lim_{n\to\infty} |||L_n x - x||| = 0.$$

Also for T and T_n defined by (1.4) and (2.1) respectively, we have (2.16) $\lim_{n\to 0} |||L_n T_n x - |Tx||| = 0.$

This follows from

$$|||L_nT_nx - Tx||| \le |||L_nT_nx - L_nTx||| + |||L_nTx - Tx|||$$

where

$$|||L_n T_n x - L_n T x||| \le ||| T_n x - T x|||$$

by (2.14), $\lim_{n\to\infty} ||| T_n x - Tx ||| = 0$ from the uniform continuity of b'(t)K(t) on [0, 1], and $\lim_{n\to\infty} ||| L_n Tx - Tx ||| = 0$ by (2.15).

LEMMA 4. Let X(t, x), g(t) and $f_n(t, x)$ be as defined in Lemma 3. Then the random variables $Z_n(x)$, on (C_w, \mathfrak{F}^*, m) defined by

(2.17)
$$Z_n(x) = \exp\left\{I(f_n)(1, x) - \int_0^1 f_n^2(t, x)db(t)\right\} \qquad n = 1, 2 \cdots$$

are uniformly integrable on C_w . If g(t) is bounded on D then for every $B \ge 0$ the random variables $Y_n(x)$, $n = 1, 2, \dots$, defined by

(2.18)
$$Y_n(x) = \chi_{[0,B]}(|||L_n x|||) \exp \{I(f_n)(1,x)\}$$

are uniformly integrable on C_w .

PROOF. For $\alpha \geq 0$ let

$$\varGamma_{lpha,n} = \{x \in C_w; Z_n(x) > lpha\}$$
.

To show the uniform integrability of Z_n , $n = 1, 2, \dots$, we show that for every $\varepsilon > 0$ there exists $A \ge 0$ such that

$$\int_{\Gamma_{A,n}} Z_n(x) m(dx) < \varepsilon$$
, for $n = 1, 2, \cdots$.

For each *n* define a function $I_n(\alpha, x)$ on $[0, \infty) \times C_w$ by

$$I_n(lpha, x) = egin{cases} 1 & ext{when} & lpha < Z_n(x) \ 0 & ext{when} & lpha \geqq Z_n(x) \ . \end{cases}$$

Then $Z_n(x) = \int_{[0,\infty)} I_n(\alpha, x) d\alpha$ for every $x \in C_w$. Thus for an arbitrary $A \ge 0$, by Tonelli's Theorem

J. YEH AND W. N. HUDSON

$$egin{aligned} &\int_{\Gamma_{A,n}} Z_n(x)m(dx) = \int_{[0,\infty)} igg\{ \int_{\Gamma_{A,n}} I_n(lpha,x)m(dx) igg\} dlpha \ &= \int_{[0,\infty)} m(\{x; Z_n(x) > A\} \cap \{x; Z_n(x) > lpha\}) dlpha \ &= \int_{[0,A]} m(\{x; Z_n(x) > A\}) dlpha + \int_{(A,\infty)} m(\{x; Z_n(x) > lpha\}) dlpha \ &= Am(\Gamma_{A,n}) + \int_{(A,\infty)} m(\Gamma_{lpha,n}) dlpha \ . \end{aligned}$$

Now for $\alpha > 0$

$$\begin{split} m(\Gamma_{\alpha,n}) &\leq \frac{1}{\alpha^2} \int_{C_w} Z_n^2(x) m(dx) \\ &= \frac{1}{\alpha^2} \int_{C_w} \exp\left\{2 \Big[I(f_n)(1, x) - \int_0^1 f_n^2(t, x) db(t) \Big] \right\} m(dx) = \frac{1}{\alpha^2} \end{split}$$

since the last integral is equal to 1 according to Lemma 3 applied to $2f_n$. Then for $A>2/\varepsilon$

$$\int_{\Gamma_{A,n}} Z_n(x) m(dx) \leq A \frac{1}{A^2} + \int_{(A,\infty)} \frac{1}{A^2} d\alpha = \frac{2}{A} < \varepsilon \quad \text{for} \quad n = 1, 2, \cdots$$

proving the uniform integrability of Z_n , $n = 1, 2, \cdots$.

Finally consider the case where g(t) is bounded on D. Now

$$\max_{t \in D} \left| X\left(\frac{[nt]}{n}\right) \right| = |||L_n x|||.$$

Thus $x \in C_w$, $|||L_n x||| \leq B$ and $B \geq 0$ imply $|f_n(t, x)| \leq |||g|||B$ and

$$\int_0^1 f_{\pi}^2(t, x) db(t) \leq |||g|||^2 B^2[b(1) - b(0)] .$$

Then with

$$\gamma = \exp \{ |||g|||^2 B^2 [b(1) - b(0)] \}$$

we have

$$Y_n(x) = \chi_{[0,B]}(|||L_n x|||)Z_n(x) \exp\left\{\int_0^1 f_n^2(t, x)db(t)\right\} \leq \gamma Z_n(x) .$$

Therefore when $\alpha \geq \gamma A$

 $\int_{\{x:Y_n(x)>\alpha\}} Y_n(x)m(dx) \leq \gamma \int_{\{x:Z_n(x)>\alpha/\gamma\}} Z_n(x)m(dx) < \gamma \varepsilon \quad \text{for} \quad n = 1, 2, \cdots$ proving the uniform integrability of $Y_n, n = 1, 2, \cdots$.

Lemma 5. If $x \in C_w$ and for some $M \ge 0$

 $|||L_n x||| > M \exp \{|||b'K|||\}$

then

$$|||L_nT_nx||| > M$$
.

PROOF. As in the Volterra integral equation theory one can show that T_n defined by (2.1) transforms C_w one-to-one onto C_w , T_n and T_n^{-1} are bounded linear operators and

$$||T_n^{-1}|| \leq \exp\left\{|||b'K|||
ight\}$$
 .

Now for an arbitrary $x \in C_w$ which satisfies $|||x||| > M \exp\{|||b'K|||\}$ for some $M \ge 0$ we have $|||x||| > M ||T_n^{-1}||$. Then $|||T_nx||| > M$ for otherwise we would have $|||T_nx||| \le M$ and consequently

$$M|||T_n^{-1}|| < |||x||| = |||T_n^{-1}T_nx||| \le ||T_n^{-1}||| ||||T_nx||| \le ||T_n^{-1}||M$$
 ,

a contradiction. Since the above $x \in C_w$ is arbitrary, in particular $|||L_n x||| > M \exp\{|||b'K|||\}$ implies $|||T_n L_n x||| > M$. But by (2.1) and (2.13), $T_n L_n x = L_n T_n x$. Thus $|||L_n T_n x||| > M$.

3. Proof of Theorem 1. From the natural one-to-one correspondence between the polygonal functions on [0, 1] which have n equal steps and vanish at t = 0 and the elements of \mathbb{R}^n there exists for the real valued functional $F[y], y \in C_w$, a real valued function $H[\gamma_1, \dots, \gamma_n]$ on \mathbb{R}^n such that $F[L_n y] = H[y(1/n), \dots, y(n/n)] \equiv G[y]$ for $y \in C_w$. The boundedness and continuity of F on C_w imply the same for H on \mathbb{R}^n with respect to the uniform topology of \mathbb{R}^n . Now for T_n defined by (2.1) we have

$$G[T_n x] = H\left[(T_n x)\left(\frac{1}{n}\right), \cdots, (T_n x)\left(\frac{n}{n}\right)\right] = F[L_n T_n x], \text{ for } x \in C_w$$

so that according to Lemma 1

(3.1)
$$\int_{C_w} F[L_n y] m(dy) = \int_{C_w} F[L_n T_n x] J_n[x] m(dx)$$

where

$$(3.2) J_n[x] = \exp\left\{-\sum_{i=1}^n K_{i-1}x(t_{i-1})[x(t_i) - x(t_{i-1})]\right\} \\ \times \exp\left\{-\frac{1}{2n}\sum_{i=1}^n \beta_i K_{i-1}^2 x^2(t_{i-1})\right\}.$$

We obtain (1.5) by letting $n \to \infty$ in (3.1). This is done as follows.

On the left side of (3.1) since F is bounded on C_w , by applying the Bounded Convergence Theorem and then by (2.15) and the continuity of F we obtain

J. YEH AND W. N. HUDSON

(3.3)
$$\lim_{n\to\infty}\int_{C_w}F[L_ny]m(dy)=\int_{C_w}F[y]m(dy) \ .$$

On the right side of (3.1) let $M \ge 0$ be such that F[x] = 0 for $|||x||| \ge M$. By Lemma 5, $|||L_n x||| > B$ with $B = M \exp \{|||b'K|||\}$ implies $|||L_n T_n x||| > M$. Then

(3.4)
$$\int_{C_w} F[L_n T_n x] J_n[x] m(dx) = \int_{C_w} \chi_{[0,B]}(|||L_n x|||) F[L_n T_n x] J_n[x] m(dx) .$$

By Lemma 4 the functionals on C_w

$$\chi_{[0,B]}(|||L_n x|||) \exp \left\{-\sum_{i=1}^n K_{i-1} x(t_{i-1})[x(t_i) - x(t_{i-1})]
ight\}, n = 1, 2, \cdots$$

are uniformly integrable on C_w . Then since F is bounded on C_w and

$$\exp\left\{-rac{1}{2n}\sum\limits_{i=1}^{n}eta_{i}K_{i-1}^{2}x^{2}(t_{i-1})
ight\}\leq1~~ ext{for}~~x\in C_{w} ext{, }n=1 ext{, }2 ext{, }\cdots ext{, }$$

the functionals on C_w

$$(3.5) \qquad \qquad \chi_{[0,B]}(|||L_n x|||)F[L_n T_n x]J_n[x] , \qquad n=1, 2, \cdots$$

are uniformly integrable on C_w .

According to (2.16) and the continuity of F

$$\lim_{n o\infty} F[L_nT_nx] = F[Tx] \qquad x\in C_w$$
 .

Also

$$\lim_{n \to \infty} \exp\left\{-\frac{1}{2n} \sum_{i=1}^n \beta_i K_{i-1}^2 x^2(t_{i-1})\right\} = \exp\left\{-\frac{1}{2} \int_0^1 b'(t) K^2(t) x^2(t) dt\right\} \qquad x \in C_w \,\,.$$

Let $f_n(t, x) = K([nt]/n)X([nt]/n)$, $n = 1, 2, \dots$, and f(t, x) = K(t)X(t, x), for $x \in C_w$, $t \in [0, 1]$. For each $x \in C_w$, $\lim_{n \to \infty} f_n(t, x) = f(t, x)$ uniformly on [0, 1] so that

$$\lim_{n\to\infty}\int_{0}^{1} [f_{n}(t, x) - f(t, x)]^{2} db(t) = 0$$

and this implies (see for instance pp. 185-186, Itô [5]) that $I(f_n)(1, x)$ converges to I(f)(1,x) in the *m* measure. Thus the sequence of functionals on C_w given by (3.5) converges in *m* measure to

$$\chi_{[0,B]}(|||x|||)F[Tx] \exp\left\{-I(f)(1,x)\right\} \exp\left\{-\frac{1}{2}\int_{0}^{1}b'(t)K^{2}(t)x^{2}(t)dt\right\}.$$

Since the functionals given by (3.5) are integrable and uniformly integrable on C_w the above convergence in measure justifies passing to the limit under the integral in (3.4) and have

(3.6)
$$\lim_{n\to\infty} \int_{C_w} F[L_n T_n x] J_n[x] m(x) \\ = \int_{C_w} \chi_{[0,B]}(|||x|||) F[Tx] \exp\{-I(f)(1,x)\} \\ \times \exp\{-\frac{1}{2} \int_0^1 b'(t) K^2(t) x^2(t) dt\} m(dx) .$$

Now |||x||| > B implies $|||L_n x||| > B$ for sufficiently large *n*. For such $n |||T_n x||| \ge \max_{i=1,...,n} |(T_n x)(i/n)| = |||L_n T_n x||| > M$ by Lemma 5. Thus for |||x||| > B we have $|||Tx||| \ge M$ and consequently F[Tx] = 0. Therefore in the integrand on the right side of (3.6) we may drop the factor $\chi_{[0,B]}(|||x|||)$ without disturbing the equality of the two sides. Now (3.1), (3.3) and (3.6) give (1.5).

The proof of Theorem 2 is omitted since it is the same as the proof of Theorem 1 given in [1].

BIBLIOGRAPHY

- [1] R. H. CAMERON AND W. T. MARTIN, Transformations of Wiener integrals under a general class of linear transformations, Trans. Amer. Math. Soc. 58 (1945), 184-219.
- [2] R. H. CAMERON AND W. T. MARTIN, Evaluation of various Wiener integrals by use of certain Sturm-Liouville differential equations, Bull. Amer. Math. Soc. 51 (1945), 73-89.
- [3] W. N. HUDSON, Volterra Transformations of the Wiener measure on the space of continuous functions of two variables, Pacific J. of Math. 36 (1971), 335-349.
- [4] K. Itô, Theory of Probability (in Japaneses), Tokyo, 1953.
- [5] K. ITÔ, Lectures on Stochastic Processes, Tata Institute of Fundamental Research, Bombay, (1961).
- [6] P. LÉVY, Processus Stochastiques et Mouvement Brownien, Paris, (1948).
- [7] K. YOSIDA, Lectures on Differential and Integral Equations, New York, 1960, (English Translation of the Original Japanese).

UNIVERSITY OF CALIFORNIA, IRVINE

UNIVERSITY OF CALIFORNIA, SANTA BARBARA

This research was supported in part by NSF Grants GP-8291, GP-13288 and by an Air Force Grant No. 1321-67.